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1 | OSU—Leones 1 3 81 39 13 48.1 1 | OSU—Leones 1 3 6 4 1 66.7
2 | BETFIE Four 2 7 229 | 110 15 48.0 2 | HEFII Four 2 12 6 2 50.0
3 | NTTEERA AKX 3| 10 349 | 151 33 43.3 3 | KERAHR 3| 1 11 5 1 455
4 | HiRE 2 6 154 66 14 42.9 4| HiRa 2 6 10 4 1 40.0
5 | NBK dreamers 3 9 271 | 115 23 42.4 5 | NBK dreamers 3 9 34 13 4 38.2
6 | BHIEXRZE 2 6 183 63 16 34.4 6 | Team HPITE 4| 14 17 5 3 29.4
7 | Team #HPETE 4| 14 447 | 149 62 33.3 7 | NTT#EH AKX 3/ 10 15 4 5 26.7
8 | KERAHR 3] 1 315 99 43 31.4 8 | EHIEXY® 2 6 5 1 1 20.0
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1| NTTEHAKXBR 3| 10| 349 433 147 4| 151 1| #K4 2 6 25 417
2| Team HPE= 4| 14| 447| 333 144 5 149 2 | NBK dreamers 3 9 32 3.56
3 | NBK dreamers 3 9 271 4241 102 13| 115 3| WEFIZ Four 2 7 16 2.29
4| wHETILI Four 2 7| 229 480 104 6| 110 4| KIRHR 3 11 19 1.73
5| KERHZR 3| 11 315| 314 94 5 99 5 | OSU—Leones 1 3 5 1.67
6| #ERA 2 154| 429 | 62 4| 66 6 | NTTHE H AKX 3 10 16 1.60
T BHTEAS 2 6 183| 34.4| 62 1] 63 7| Team HY&= 4 14 19 1.36
8 | OSU—Leones 1 3 81 48.1| 35 4| 39 8 | EHTZAS 2 6 7 1.17
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1 | OSU—Leones 1 3| 73| 2| 2| 33 12 16.2 1| Team #PIE 4 14| 297| 186 | 111 62.6
2 | NBK dreamers 3 9| 219 5 5| 86|24 13.9 2 | BHIEXXRE 2 6 122 76 46 62.3
3 | NTTE B A KRR 3| 10| 245 0 7| 102| 20 12.7 3 | 4R4A 2 6 90 56 34 62.2
4| BHIEXRE 2| 6| 121 1 2| 48| 19 12.1 4| KIRHAR 3 11 210 122 88 58.1
5 | R4 2| 6| 146| 4| 6| 32|18 15 5 | NTTH HAKXR 3 10| 214 120 94 56.1
6 | WHETFIZ Four 2 7| 174 3| 3| 58|18 11.4 6 | OSU—Leones 1 3 38 21 17 55.3
7 | Team #HOEE 4| 14| 280 3| 10| 75|35 10.6 7| HEEFII Four 7 139 76 63 54.7
8 | KBRHR 3| 11| 2221 3| 2| 62|37 9.1 8 | NBK dreamers 3 9 164 84 80 51.2
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